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ĐỀ 1: 
(1) 1.11 (10) 2 3xe x     
(2) 1.3692 (11) -4.0507 
(3) 1.7620 (12) -3.7642 
(4) 1.122 (13) 0.9055 
(5) 1.3991 (14) 3.2464 
(6) 1.2564 (15) 6 
(7) -3.7668 (16) 0.8862 
(8) -3.5769 (17) 2.10-4 
(9) 2.10-2 (18) 4 
 
Tự luận 

- Đổi dấu hai vế và lấy ln hai vế. Đổi biến Y=ln(-y); a=ln(-A) , phương trình có dạng tuyến tính  
(0.5đ) 

- A=-3.7211; B=0.592 
 
ĐỀ 2: 
(1) 0.7060 (10) 2 3xe x     
(2) 0.9447 (11) -3.9384 
(3) 1.5413 (12) -3.7195 
(4) 0.7140 (13) 0.7365 
(5) 0.9660 (14) 2.1233 
(6) 0.8376 (15) 6 
(7) -3.7964 (16) 0.5780 
(8) -3.5795 (17) 5.10-5 
(9) 2.10-2 (18) 5 
 
Tự luận 

- Đổi dấu hai vế và lấy ln hai vế. Đổi biến Y=ln(-y); a=ln(-A) , phương trình có dạng tuyến tính  
(0.5đ) 

- A=-3.7211; B=0.592 
 


